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" Explain the concept of shut-down point. Will a firm

unable to cover part of its fixed cease production in”

short run? Derive the short run supply curve of a
perfectly competitive firm.
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How is price determined under monopolistic
_'compctition in long run? Explain with the help of
‘ diagram,
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Write short note on any two:
(a) Backward sloping supply curve of labour
(b) Prisoner’s dilemma
(c) Break even point
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1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any 5 questions out of 7 and all questions
carry equal marks.

3.  Simple calculator is permissible.
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(a) Why production possibility curves are concave to
the origin? Under what conditions would it be

convex and linear?

(b) What do you understand by mixed economy?

Explain its main feature with reference to India.
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Following table shows the supply to a office per month
by three firms ‘A’, ‘B’ and ‘C’ constituting the market.
Calculate the market supply schedule.

Price (per kg) Quantity Supplied
In Rs. Firm 'A’ Firm ‘B’ Firm ‘C’
2 7.5 20 50
5 1.0 5 80
3 130 30 100
11 175 35 120
14 200 40 150
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Price (per kg) : Quantity Supplied

In Rs, Firm ‘A’ Firm ‘B’ Firm ‘/C’
2 7.5 20 50
5 1.0 25 80
8 130 30 100
11 175 35 120
14 200 . 40 150

(a) If the price of a commodity falls from Rs. 8 per
unit to Rs. 5 per unit, the consumer’s demand
increase from 10 units to 16 units. What is the
price elasticity of demand for the commodity?

(b) What are the assumptions of indifference curve
analysis? Also explain the concept of marginal rate
of substitution.
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What do you mean by the term economies of scale?
Why do these economies turn into diseconomies?
Discuss their nature and effect on pricing.
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